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Write Expressions

1. Let krepresent the number of Instagram followers that Kelly has.
a. Amy has 15 more followers than Kelly. Write an expression for the number of followers that Amy has.

K+15

b. James has 12 less followers than Kelly. Write an expression for the number of followers that James has.

c. Ivana has a fourth as many followers as Kelly. Write an expression for the number of followers that

Ivana has. Jl'_; K

d. Challenge: Simeon has 6 less than three times as many followers as Kelly. Write an expression for the
number of followers that Simeon has. 3 k’ b

2. Below is Mr. Johnson’s attempt at writing an expression to match a number trick. Explain Mr. Johnson’s mistake
and demonstrate the correct work below his attempt.

Choose a number. Subtract 4. Multiply by 3. Add 8. Subtract your original number.
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Mistake Mr. Johnson made: ‘-\0_4 dd VD'{- d\‘%ﬁ\m‘h

Correct work:
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3. Use 7 for the following number trick: Add 8. Multiply by 2. Subtract your original number. Subtract 13. What is
your ending number? .13

g ;
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4. Write an expression in terms of x for the number trick in #2 above. Show your work and simplify each step.
+8 ' 2 =3 -13
X=X+ = 22X+ = X+l = % +3

Evaluate Expressions
5. Fun fact: At Disney World, you can never take more than 30 steps without reaching a trash can. The number of

trash cans per square yard can be estimated by the expression % — 1, where y is the number of square yards.
How many trash cans would you expect to find in a courtyard that spans 600 square yards?
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Evaluate Expressions (continued)
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6. Evaluate the expression
x+3

a. forx=5 b. forx=-5 . 2 - -
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Simplify Expressions H
7. Simplify the expressions below:
a. =3(p+7) b. 8— (x —5) c.§_71+4y,—2—7y11+7

- 3p-2| E-X +5 2N =2y +5
\% - %

8. Write a simplified expression for the area and the perimeter of the rectangle below:

aea: Y (3y =S)
\2X =20

Perimeter: Ll ,‘, 2>X _S + I_} +. SX ,‘v’
bx-2

3x-5

Binary Operations
9. Let the binary operation x ¥y be defined as —8x + 2y — 3. )
a. Find1V-4 E;i.; , y = “L"j b. Find -5V 6 E\,(':. S\ = foJ
“BLIY +2(4)-3 L3-8 +206) =3
“8-8-3 40 +12-3
[ ale
c. Anastasia found 3 ¥ 7. Her work is below. Is she correct? Explain why or why not.
-8(#) +2(3)-3
-%6 +6 -3
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